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E Adding Integers

= You can use tiles to add integers.

A ﬂﬂuuuuu

A

= You can use a number line to add integers.
(+6) + (—3) = +2 _a

—— 1

\ +8

B -7 —6 -5 —4 -3 -2 -1 D +1 +2 +3 +4 +5 +6 +7 +8
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What Should | Be Able to Do?

1.
2.

Suppose you have 17 red tiles.
How many yellow tiles would you
need to model:

a) —127 b) 07

d +207 d) —177
How do you know?

Write the integer suggested by each
of the following situations.
Draw yellow or red tiles to model
each integer.
Explain your choice.
a) The temperature rises §°C.
b) The price of 1 L of gas falls 5¢.
¢) You deposit $12 in your
bank account.
d) You take 7 steps backward.
e} The time is 9 s before take-off.

October 03, 2016
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P22 3. What sum does each set of

tiles model?

a) 5 red tiles and 2 yellow tiles
b} & yellow tiles and 5 red tiles
¢} &yellow tiles and 7 red tiles
d) 8 yellow tiles and 8 red tiles

Represent each sentence with

integers, then find each sum.

a) The temperature was —6°C,
then rose 4°C.

b) Surinder withdrew $25,
then deposited 513.

¢) Astock gained §15,
then lost 523.

d) A submarine was 250 m below
sea level, then ascended 80 m.

October 03, 2016
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23

5. a) Find 4 pairs of integers that have

the sum —5.
b} Find 4 pairs of integers that have
the sum +4.

The temperature at 6 a.m. is —10°C.
During the day, the temperature
rises 17°C. What is the new
temperature? Write an addition
equation to represent this situation.
Use a vertical number line to
support your answer.

October 03, 2016
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7. a) Write an addition equation
modelled by each number line.
b) Describe a situation that each
nurmber line could represent.

),
—_— 1
-5 —4 -3 -2 -1 0 +1 +2
ii
j A — |
-3 -2 -1 0 +1 42 +3

I?z—i 8. Use tiles to add or subtract.
a) (=1) +i(+3)
b) (+3) + (-4
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’Eﬂ
2 9. Useanumberline to add or subtract.
MBS @ (-1 +(+3) b) (+6) + (4
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2.4 Subtracting Integers with Tiles

Focus  Use colourad tilas to subdract
intagars.

To add integers, we combine groups of tiles.
To subtract integers, we do the reverse:
we remove tiles from a group.
Recall that equal numbers of . . . . .
red and yellow tiles model 0. )
For example, +5 and —5 form 5 zero pairs, B N N R

and (—5)+ (+5)=10

Adding a zero pair to a set of tiles does not change its value. @ . . .

For example, (—3) + 0= -3
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Loy

You will need coloured tiles.

Use tiles to subtract.

Add zero pairs when you need to.
Sketch the tiles you used in each case.

= (+5)—(+3)
= (+5)—1(-3}
« (=3)—(+5)

= (=3)-(-5)

Reflect & Share

Compare your results with those of another pair of classmates.

Explain why you may have drawn different sets of tiles, yet both may be correct.
When you subtracted, how did you know how many tiles to use

to model each integer? How did adding zero pairs help you?
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To use tiles to subtract integers, we model the first integer,
then take away the number of tiles indicated by the second integer.

66 UNIT 2: Integers
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Example

Use tiles to subtract.

a) (—2) —(—6) b) (—6) — (+2) ¢ (+2) — (—6)
A Solution

a) (—2) — (—6)

Model 2. [} B

There are not enough tiles to take away —6.
To take away —6, we need 4 more red tiles.

We add zero pairs without changing the value.
Add 4 red tiles and 4 yellow tiles.

EEEEER

Now take away 6 red tiles.

(TININ)

Since 4 yellow tiles remain, we write: (—2) — (—6) = +4

2.4 Subtracting Integers with Tiles &7
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Example

Use tiles to subtract.

a) (—2) —(—6) b) (—8) — (+2) c) (+2) — (—86)
A Solution

a) (—2) — (—6)

Model —2. [l B

There are not enough tiles to take away —6.
To take away —6, we need 4 more red tiles.

We add zero pairs without changing the value.
Add 4 red tiles and 4 yellow tiles.

EEEEER

Now take away 6 red tiles.

CIINNN)

Since 4 yellow tiles remain, we write: (—2) — (—6) = +4

2.4 Subtracting Integers with Tiles 67
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b) (—6) — (+2)
Model 6. [l [ B B B

There are no yellow tiles to take.
We need 2 yellow tiles to take away.

We add zero pairs.
Add 2 yellow tiles and 2 red tiles.

Mow take away 2 yellow tiles.
aEEEEEEnR
( =

——

Since 8 red tiles remain, we write: (—6) — (+2) = —8



October 3, 2016.notebook October 03, 2016

¢ (+2) —[—6)
Model +2.

There are no red tiles to take.
We need 6 red tiles to take away.

We add zero pairs.
Add 6 red tiles and & yellow tiles.

| &
aaEaEEen
Mow take away 6 red tiles.
|
Cr I Y nny

Since 8 yellow tiles remain, we write: (+2) — (—6) = +8




October 3, 2016.notebook October 03, 2016

Motice the results in the Example, parts b and c.

When we reverse the order in which we subtract two integers,
the answer is the opposite integer.

(—6) — (+2)= -8

(+2) —(—6)= +8

68 UNIT 2: Integers
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1. Use tiles to subtract. Draw pictures of the tiles you used.

a) (+7) — (+4) b) (-2) - (—2) c) (—9) — (—6)

d) (+4) — (+2) e) (—8) — (-1 f) (+3) — (+3)
2. Use tiles to subtract.

a) (1) = (—4) b) (+3) — (+8) o (—4) — (=11}

d) (+7) — (+8) e) (—4) — (—6) f) (+1) — (+10)
3. Subtract.

a) (—4) - (-1 b) (+8) — (+3) d (—11) —(—4)

d) (+8) — (+7) e) (—6) — (—4) fy (+10) — (+1)
4. Subtract. Write the subtraction equations.

a) (+4) — (=7 b) (—2) — (+8) ¢ (—9) — (+5)

d) (+6) — (—8) e) (—3) — (+6) fy (=5 —(+7
5. Subtract.

a) (+4) — (+5) b) (—3) — (+5) o (—4) — (+3)

d) (—1) — (~8) e) (+8) — (-2) f) (+4) — (-7)

October 03, 2016
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7. a) Use coloured tiles to subtract each pair of integers. !
i} (+3) — (+Nand (+1) — (+3)
i) (—3)—(—2)and (—2) — (—3)
iii) (+4) — (—3)and (—3) — (+4)
b} What do you notice about each pair of questions in part a?
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9, Assessment Focus Use integers.
Write a subtraction question that would give each answer.
How many questions can you write each time?
a) +2 b) -3 ¢ +5 d) -6

2.4 Subtracting Integers with Tiles 69
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10.

11.

12.

Which expression in each pair has the greater value?
Explain your reasoning.

a) i) (+3) —(=1) i) (—=3)—(+1)

b) i) (—4) — (=5) iy (+4) — (+5)

Take It Further

a) Find two integers with a sum of —1 and a difference of +5.

b) Create and solve a similar integer question.

Take It Further Copy and complete.
a) (+4) —O = +3
b) (+3) —O= -1
g O—(+1) = +4

October 03, 2016
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14. Take It Further Here is a magic square.

a) Subtract +4 from each entry.
Is it still a magic square? Why?

b) Subtract —1 from each entry.
Is it still a magic square? Why?

0 |+5 | -2
-1 | +1 |+3
+4 [ -3 |+2

October 03, 2016
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